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Calculating the Mean of n Numbers

The mean of n numbers > x,
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Array and Memory

Int x[10];
address data
X ik ik

10 int variables

x[O] X ' *X

X[1] Xx+1 —> *(x+1)

xX[2]

X[3] X+2 —> *(x+2)

x[4] X+3 —> *(x+3)
X+4 —> *(x+4)
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Array and Memory

Int x[10];

X

10 int variables

x[0] = 80 80 *(x+0) = 80
x[1] = 90 90 *(x+1) =90
x[2] = 40 40 *(x+2) =40
x[3]1 =70 70 *(x+3) =70
x[4] = 60 60 *(x+4) = 60
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address
ik

X+1] —>
X+ 2 —>
X+3 —>

X+ 4 —

data

*(x+1)

*(x+2)

*(x+3)

*(x+4)
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Calculating the Mean of n Numbers

sum = 0; sum : 0;
sum = sum + Xx[0]; sum : X,
sum = sum + x[1]; sum : X +X,
sum = sum + x[2]; sum @ X +X +X,
sum = sum + x[3]; sum @ X +X +X,+X,
sum = sum + x[4]; sum : X +X +X +X_ +X,
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1t Iteration
(S=0, i=0)

yes

S<—S+x0

Sigma Notation and Flow Chart (2)

2" |teration
(S=2, k=2)

yes

S<—S+xl

=i+ 1
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3™ |teration 4™ |teration 5™ Iteration
(S=6, k=3) (S=12, k=4) (5=20, k=5)
no
yes yes
S<—S+x2 S<—S+x3 S<—S+x4
il~i+1 — l~i+1 |— =i+ 1
Final result
(S=30, k=6)
a;=2, A B
a,=4, K 1 1 2 3 4 o)
a;=0, Ak 2 4 b 3 10
a,=8, S 0 2 b 12 20 30
a;=10
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Sigma Notation and Flow Chart (2)

1% Iteration 2" [teration 3™ |teration 4™ |teration 5™ Iteration
(S=0, i=0) (S=2, k=2) (S=6, k=3) (S=11 k=4) (5=20, k=5)
S<—S+xo S(—S+x1 S(—S+x2 S<—S+x3 S(—S+x4
=i+ 1 fe—i+1 i+ 1 i+ 1 i+ 1
yes yes yes
no
Final result
(S=30, k=6)
a;=2, A B
a,=4, K T T , 3 g 5
a,=6, Ak 2 4 6 8§ | 10
a,=8, S 0 2 b 12 20 30
a;=10
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